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Trigonometry - Functions and Graphs Lesson #4: ... Angle Measure from Trigonometric Ratios L3

Assignment ~X 0eoye. s JA
O 1. Detamnethemeasme(s)ofﬂt?&Wde , where 0° s 0.5 360°. Tle
a) sin 6=0.7301 b)cose--09580
@ w2 ORav?3
whl =477 vetbe=
© =“"’1", %gv"q“’l B=1% o=\ ey \o"‘u’%%;\
- 4T, 1BF - 1637, 1471
<) mo-— d) sin §=-1
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bl =bg° vk L =-0° o
- -qo
B~b}", |WT6d -~ © ’“‘O*QO, 1260
4%, adg’ 0 =¢10
2, DetermineﬂxemeasmeofA,tod:enearestdegme for the specified domain.
a) secA 12364,0° s A = 360° D) cotA=-04458,180° < A s 360°
kel ORI OQAM  fan Av'jw
O rH'L 3‘0 it Ls " g
3 = 3b°) dbo-3b B-= 3b0-bb
;%033%\})1 0° s A 180° d) A’ad?ﬁ'i;.o A 5360
¢) csc sAs cot A is un ° < A =360°
@Q‘N&WV& WA-«O\(\\AOA\QS"{
ginh= L vetl=%l° vit L=0
1013¢ e
Ao ¢\ \go- 8l LK =0 ,\\¥0'- ©,1¥0T O, 3D
o S’\°>°\°\' =0, \&0°, 3b0°
3. Solve for 8, to the nearest degree, where 0° < 6 < 360°.
a) tan? 6=3 b) seczﬂ-%a
- 4B )
g = I3 cos"‘e«% o8- 2 QI
Q-4 YL -39
T b= 230", \§0- 40, \§0 430, 360-30
®  a:io 0060, GO0, © ).\“ 0, 0T ’
bo - 00 3>30 150,00, 330
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4. In each case, determine the value(s) ofxtotheneaxestLuthofaradian.
a) tanx= 05371, 0 sx < 2%

®Q 113
(4 L =oM%39

X =0-4%4 [T +0493 (kL =0- 5880 o
=9 Ua: . A=T-0. ‘SZSU)d“ “0-38QU
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Ve =0-
- X=0+0 43S
X= 011, 1614 - 3,19
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5. I;mhcase,detexmmeme_g_gc_t_'vamesofemrheimervalosesza,forwhich
' .a) sme:% b) cos0=—L2 c) tan f=-1] @ Qa*"{.
@R v OQ av3 kLT
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“'QV\G 7—_)_ N = \ (650 =,l-. @ Q \*L(
8 ©a\vx i.’
D\« 3 L =T “H"lg
Y :
ey L= 5
0-T -7 -7 an-T
6= o T+T 3° 9
b ) b 6\ - Tr o
- = )E\I
=T At S ERK!
o) e

gﬁ
TIC

b) cotx=-15, 0<sx<2n
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S\A
6. Find the values of each angle 0if 0 < 6 < 2.
O a) cot? =3 b) csc’ 6=-8 T ¢
: 2\
ton6 = 3 S\ 0 = ,‘g O 3%y
> Y : ~ -
*aﬂﬂ \J’; . S\‘\Q 7,\%]?/9 = 1
Q- =T
vl =T/, T
:I -T - = -\T ’v
° b,ﬂ p,ﬂ*l,m\% =L T
o o) b
Nuiiple g8 Thevaluesofxforwhlchsecx--10366mthemterva10°sxs360° DE%BMODB\
Charee
wT oske -l @ Qa3
F. 96°,276° \0.3bb
O D. 264°,276 vQ‘\'L . 8“\‘

x= \30 -4 ) \%0 ¥&4.
X=9%", aby’

8. The domain for which sec 8 =-3.1 has two solutions is

A, 0<s6snx cos S = - \ @ Q&‘\E
B. :tses2:r 3'\
n
@ —sOs—
D. noneoftheabove

9.  Which of the following has a solution in the interval 0 < x < 2;x which can be expressd
as an exact multiple of & radians?

ta,,x_% vof L =0.463b .
cotx-\/—_ \’M\X" L - 0(9[5“{
e

csc?x = -4 no¥ prso

A.
B..
C.
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@ ‘/ E LO%QX’B— cos X = tE;f_\l_}._
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7 then one approximate measure in radians for 6 is &P\'D\AN MODE

O 10. IfcscB--z—,
@ ;:;;’ R é‘—\ 0 = 0.2987 ,71 -0.29%71
b s @ Qled. ~ 0.2%¥1,3-¢5I8

rd L= 0811

Nrsratl

Respons

11. Toﬂlenemestgthofamdian,me value ofxforwhichcotx--% andrsxs<2n S
T Ic

:ls!ecord your atiwer i the pamarica response box from left to right.) 5. [0
fonx- -4 © Qavy
RESAEIARY
x= - \3aSY

O = 4.4951%

Answer Key
1. a) 47°,133° b) 163°,197° 2. a) 36°,324°‘, b) 294°
c) 68°,248° d) 2M° c) 81°,99° d) 0°,180°,360°
3. a) 60° 120°, 240°, 300° 4. a) 049, 3.63 b) 2.55,5.70
b)  30°,150°, 210°, 330° c) 0.17,297 d) 3.79
X 5w 3 5xn 3 Tx n In § 4 n 5w
5. - — b) —, — _ d —,— — f) —, —
») 6 6 ) 4 ©) 4 4 ) 6 6 e) 2 ) 3 3
6. oy X 5% 7x lix by 1% 1l
6 6 6 6 6 6




